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ic∗t = īl + β [Et(πt+n) − π∗] + γ [yt − y∗

t ] 154

�M ic∗t 	�� �	 ��
� 
�������� ������� 
	 
�
�� �	��	 
������� ��� �� ����
	 
	�����	� īl� �	
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πt = αa Et(πt+1) + (1 − αa)πt−1 + αy yt−1 + επ
t

yt = κa Et(yt+1) + (1 − κa)yt−1 − κr (ict−1 − πt) + εy
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O���������� ��
� ���� −0, 23

(−0,15)

2, 50
(1,51)

2, 94
(1,54)

2, 75
(1,39)

1, 95
(1,09)

1, 05
(0,63)

pit−1 0, 15
(0,67)

0, 15
(0,58)

0, 29
(1,20)

0, 36
(1,46)

0, 43∗
(1,85)

0, 45∗
(1,90)

R2 B�B? B��� B�?B B�?F B�?3 B�?5
8��� �� ���� Y ��=� 4, 88

(0,96)

11, 21∗∗
(2,38)
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(2,39)

13, 41∗∗
(2,53)

10, 46∗
(2,10)
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(0,91)
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(0,11)
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βT
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u (Ct+T ) + v
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− l (Nt+T )
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U(Ct) =
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σ
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Pt

+
Bt+1
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Nt + (1 + it)
Bt
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+
Mt−1
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U ′(Ct) = β Et

[

(1 + it)Pt
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]
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C
−

1
σ

t = β Et

{

exp

[

log

(

(1 + it)Pt

Pt+1
C

−
1
σ

t+1

)]}
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= β exp

{

Et

[

log (1 + it) + log (Pt) − log (Pt+1) + log
(

C
−

1
σ

t+1

)]

+
1

2
V

[

log

(

(1 + it)Pt

Pt+1
C

−
1
σ

t+1)

)]}
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−1

σ
log (Ct) = log β + Et

[

log (1 + it) + log (Pt) − log (Pt+1) −
1

σ
log (Ct+1)

]

+
1

2
V

[

log

(

(1 + it)Pt

Pt+1

C
−

1
σ

t+1)

)]
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−1

σ

(

log (Ct) − log
(

Ĉ
))

= Et

[

log (1 + it) − log
(

1 + î
)

− πt+1 + π̂

− 1

σ

(

log (Ct+1) − log
(

Ĉ
))

]

+ χ 1?34
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yt = d1 ct + d2 invt + d3 gt 1<B4
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Hγ
t
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C̄γ
t−1

)1− 1
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ct = ct+1 − σγ

(

1 − 1

σ

)

c̄t−1 + σγ
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)

c̄t − σ(ict − πt+1) − σlnβ 1<H4
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Yt(j) =

(

Pt(j)

Pt

)
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Yt 1<F4
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Yt(j) = At Nt(j)
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Pt =
[

φP 1−θ
t−1 + (1 − φ)P 1−θ

t (j)
]
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pt = (1 − φ)p⋆
t + φpt−1 1<34
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MaxEt

+∞
∑

k=0

(φβ)k

[

Pt(j)

(

Pt(j)

Pt+k

)

−θ

Yt+k − Wt+kNt+k(j)

]
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(

Pt(j)

Pt+k

)

−θ

Yt+k ≤ At+k Nt+k(j)
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MCt =
WtNt

aYtPt
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Pt(j) = µ Et

[∑

∞

k=0(φβ)kWt+kNt+k
∑

∞

k=0(φβ)kaYt+k

]
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pj
t = logµ + (1 − φβ)

∞
∑

k=0

(φβ)k
Et (mct+k) 1HH4
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mct+k = mct −
θ(1 − a)

a

(

pj
t − pt+k

)
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πt = βEt (πt+1) + λmct 1H74
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πt = αf Et (πt+1) + αbπt−1 + αmcmct 1H24
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αf = β φ (φ + ω [1 − φ (1 − β)])−1

αb = ω (φ + ω [1 − φ (1 − β)])−1

αmc = (1 − φ) (1 − βφ) (1 − ω) (φ + ω [1 − φ (1 − β)])−1
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